SAMPLE - Given by teacher for a LOW PASS (note the problem asks for High pass) and with Cut-OFF (problem asks for Cut-IN) freq.
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We wish to design a low-pass filter whose cutoff frequency is cs/2 using the Fourier series method.  Find the coefficients.

Ans:

1. We wish to find the transfer function of an FIR high-pass filter using the Fourier series method of design.  Let the cut-in frequency be equal to one-eighth of the sampling frequency.  Find the general formula for the coefficients (bn = <expression>).

� EMBED Equation.3  ���
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